T F A2 56 G235 (P ASHT i DX f 2L = 58

Fe IH
T 4 ik 2 % 5 % S

H#E 7 F1 442 2
J\ i FH 5 F1495 5
J\ i FH 5 F1495 8
J\ i FH 5 F1495 12
J\ i FH 5 F1496 29
A1h 5 H507 2
A1A B H510 1
A1A B H510 2
A1h 511 1
A1h 511 2
A1h 511 3
A1h 511 4
A1A 511 5
A1h 511 6
PELiA B HI511 8
ELA B HI511 9
PELiA B HI511 10
Al B HI511 12
ELA B H512 2
Al 5 1513 11
Al B H514 1
ELA B H514 2
Al B H514 4
PELiA B HI514 5
ELA B HI514 7
PELiA B HI514 9

PEAHT T H 1 1 Aih 515 L
ZEYIN B H515 P)
PELiA B HI515 3
Al B 516 2
EELA BH517 5
Al BH517 11
Al BH517 12
1L 517 14
Al BH517 15
Al BH517 22
TR 1 H1 589 8
TR B H1 589 9
TR #1 H1 592 2
TR #1 H1 592 4
TR #1 H1 592 7
TR H 614 4
TR H 614 6
TR H 618 2
T 7 F 665 2
TR #1666 1
T B 677 2
TR i .81 41
TR 2,97
AR # £.150 1
TR #2151 1
TR B 2,167 4
TR #2170 1
)R B 171 3

1/17




T F A2 56 G235 (P ASHT i DX f 2L = 58

B IH
T 44 % &S £ % ES
REEIN H 507 9
SEANT T A ) 5 ZEEIN 514 8
ZEEIN H 515 4
ZEEIN HH516 4
SEANT T A ) 3 ZEEIN H 507 8
ZEEIN # F1509 1
J\ I 1495 1
SEANT T A 5 ) )\m?éEH # F1496 5
J\ I 1496 24
TR i F1 592 1
J\ 1% #{ F496 23
PEAET T H 2 2 J\ i H #1528 4
TN #1593 4
FEART T H 2 3 V5965 5 L TEIC LD IR B H
FEART T H 2 4 J\ I H #1528 1
FEART T H 2 5 ZEEIN w517 7
FEART T H 2 6 ZEEIN w517 1
FEART T H 2 7 ZEEIN w517 1
FEART T H 2 8 TEAE96 55 | LA IR R
FEART T H 2 9 TEAE96 45 | I LA IR R
FEARRT T H 2 10 P96 5 1 IEIC LD (R H
FEARRT T H 2 11 P96 5 1 IEIC LD (R H
FEARRT T H 2 12 P96 4 1 IEIC LD (R H
FEARRT T H 2 13 A HA513 6
HT 7 F 525 =
FEARRT T H 2 14 PEEIN w513 3
FEART T H 2 15 PEEIN w513 2
FEART T H 2 16 REEIN #5614 6
FEARRT T H 2 17 REEIN #5614 6
VAR —TH 2 18 TN .81 4
J\ % H B F1 496 21
PEAET T H 2 19 J\ % i F 528 3
TR H F1592 3
FEART T H 2 20 P96 4 1 THIC LD (R
J\ % H # F 526 1
PEARKT ZTH 2 21 J\ I H B 1527
TR # 595
FEART T H 3 1 HE #4441 1
PEART T H 3 2 HE # 441 1
PEART T H 3 3 9645 LT LA 1R R
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T F A2 56 G235 (P ASHT i DX f 2L = 58

E<0) [5]
T 44 % &S £ % ES
. HE 1440 1
FARIT =T ’ ! Py 441 4
AN T H 3 . ZEEIN H 516 1
ZEEIN HH516 3
AN T H 3 6 ZEEIN H 513 4
ZEEIN H 513 5
PEART T H 4 1 PO H 518 3
PEART T H 4 2 PO H 518 1
PEART T H 4 3 PO H 518 1
PEART T H 4 4 PO H 518 3
PN T 4 5 T Hast |2
HT H 437 2
VEARRT T H 6 HT 518 3
FEART T H 7 TEEE96 44 | IEIC KD (R B H
RELIN w517 16
RELIN w517 17
RELIN w517 18
FEART T H 4 8 REEIN w517 19
RELIN w517 20
RELIN w517 21
PELIN w517 23
FEARRT T H 4 9 HEAE96 55 LI L A IR R
FEARRT T H 4 10 TEAE96 55 LI L A IR R
FEARRT T H 4 11 TEAE96 55 LI LA IR R
FEARRT T H 4 12 PEEIN w517 3
FEARRT T H 4 13 HEAE96 45 LI LA IR R
FEART T H 4 14 PEEIN w517 2
FEART T H 4 15 Aih HA517 i
PELIN w517 13
FEART T H 4 16 9655 LI LA IR R
FEART T H 4 17 9655 I LA IR R
FEART T H 4 18 9655 LI LA IR R
FEART T H 5 REEIN # F508
FEART T H 6 1 REEIN # F508
FEART T H 6 2 9655 I LA IR R
FEART T H 6 3 HE 525 19
FEART T H 6 4 HE 525 3
PEART T H 6 5 #F B2 | 4
HE #HH 525 22
PEART T H 6 6 HE # 525 18
PEARKT T H 6 7 HEA96 44 1 I K D1 B 1
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T F A2 56 G235 (P ASHT i DX f 2L = 58

B IH
T 44 Hi &S £ % ES
PaART T H 6 8 PO #1525 25
PEART T H 6 9 PO #1525 17
PEART T H 6 10 FUN #1525 1
PEART T H 6 11 PO #1525 2
PEART T H 6 12 FUN #1525 16
PEART T H 6 13 PO #1525 8
PEART T H 6 14 PO #1525 15
PEART T H 6 15 TEEE96 4 | I KD (R R i
FAHT T H 6 16 G e |7
HE H 525 9
PEART T H 6 17 FUaN #1525 12
FEART T H 6 18 FUN w1525 10
FEART T H 6 19 FUaN #1525 14
FEART T H 6 20 Gl 525 1
HE H 525 23
HE H 525 20
FEARET —TH 6 21 HF #H 525 21
HE H 525 24
FEART T H 6 22 P96 4 LT KD (R H
FEART T H 7 105553 HIC IV IR R
FEARET —TH 8 105553 HIC IV IR R
FEARRT T H 9 1 HEAE96 55 LI L A IR R
FEARRT T H 9 2 TEAE96 55 LI L A IR R
HE HH519 2
VAR T H 9 3 FUlN w522
HE 522 1
PEART T H 9 4 "":“T FF519 !
HT 7 F 522 1
AR T H 9 5 HE B 1520 1
FEART T H 9 6 HE i F 520 1
FEART T H 9 7 HE i F 524 5
FEART T H 9 8 HE i F 524 3
FEART T H 9 9 HE i F 524 1
FEART T H 9 10 HE i F 524 5
HE # F524 12
FEART T H 9 11 ﬁT %5%24 13
Zo N 524 14
HE # F524 15
PEART T H 9 12 HE # F 524 4
PEARKT T H 9 13 ﬁT jiiEﬁS% 8
N 524 11
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T F A2 56 G235 (P ASHT i DX f 2L = 58

B IH
T 44 % &S £ % ES
PaART T H 9 14 H&E W 524 4
PEART T H 9 15 TEEE96 4 | I K D (R R i
PEART T H 9 16 & #1524 2
PEART T H 9 17 & #1524 5
PEART T H 9 18 & #1524 4
PEART T H 9 19 & #1524 5
PEART T H 9 20 TEEE96 5 | I K D (R R i
PEART T H 9 21 TEEE96 4 | I KD (R R i
& HH519 4
& HH519 8
FEART T H 9 22 Gl HA519 J
HT HHI520 2
HE 522 *
HT H H1523
FEART T H 9 23 P96 44 | IEIC KD (R H
AN T H 9 04 TN H 651 2
TN #1652
VAR T H 9 25 TR 1651 1
VAR T H 9 26 TR 1651 5
VAR T H 9 27 TR 1651 4
VAR T H 9 28 TR T FH 648
VAR T H 9 29 TR H 651 1
e H H1525 13
VAR T H 9 30 TR # FH 644
TR B 1645 2
TR #1634 1
TN H 637 2
AN T H 10 | TR #1645 1
TR #1650 1
TR 115 2
TR 175 3
TR i F 646
TR B H650 2
TR 112 1
TR 112 2
FEART T H 10 2 TR 112 3
TR 112 4
TR 112 5
TR # 2,181 3
TR # 2,181 5
PEART T H 10 3 TR #1647
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T F A2 56 G235 (P ASHT i DX f 2L = 58

E<0) [5]
T 44 % &S £ i ES
HAHT T B 0 A TR H 651 3
TR #1653 1
PaART T H 10 5 TR #1655 2
TN #H 115 4
TR #2141
FAHT T H 10 6 TR HL142
TR # 2,169
TN 72 2
TN 72 5
FEARET T H 10 7 V9655 55 1 TS L D1 B
HAET— T B 0 . TR H 2,150 2
T H 2,167 2
HAET— T B 0 9 TR T 2,170 2
T 172 3
FEART T H 11 1 FUaN #F520 1
FEART T H 11 2 FUaN w521
FEART T H 11 3 FUaN i F522 2
FEART T H 11 4 TR w675 1
FEART T H 11 5 P96 4 LT KD (R H
FEART T H 11 6 TEEE96 44 L IEIC KD (R B H
FEARRT T H 11 7 HEAE96 45 LI LA IR R
FEARRT T H 11 8 HEAE96 55 LI L A IR R
VAR T H 11 9 TR # FH669 4
TR # FH668 2
FEARRT T H 11 10 TR #1669 !
TR #HH670
TN H 671
FEART T H 11 11 TR #FH 669 3
FEARRT T H 11 12 HEAE96 55 LI L A IR R
FEART T H 11 13 9655 LI LA IR R
PEARKT ZTH 12 1 TR H F1 655 1
PEARKT ZTH 12 2 TR H F653 2
FEART T H 12 3 IR P 7656
TR #2143 1
TR B H1658 3
FEART T H 12 4 TR XAt
TR #2145 2
TN B 2,168
PEARKT T H 12 5 TR B 121 1
PEARKT T H 12 6 TEA96 44 1 IEIC K D1 B 1
PEART T H 12 7 TR #1657
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T F A2 56 G235 (P ASHT i DX f 2L = 58

B [5]
T 44 % &S £ i ES

TR #HH667 1
TR H 667 2
TR H 667 4
TR #1668 1

VAR T H 13 1 T B 1669 2
TR B 672
TR H 673 1
TR H 673 +
TR 674
TR #1658 1

VAR T H 13 2 TR #{ F 660 1
TR # F660 2

FEART T H 13 3 TR #{ F659 1

FEART T H 13 4 TR #{ F659 2

FEART T H 13 5 TR i F658 2
TR H £.143 2
TR H £.145 1

PEART T H 13 6 TN i 2,146 1
TR i 2,146 2
TR H 2,150 5

FEARRT T H 13 7 HEAE96 45 LI LA IR R

FART —TH 13 8 V9655 1 T LA 558

FEARRT T H 14 105553 HIC IV IR R

FART —TH 15 EF 105553 EHIC LR R

PEAHT — T H 16 EE1055E3HICIVIRR

PEAHT — T H 17 EE1055E3HICIVIRR

PEAHT — T H 18 EH 10553 I I IR R

PEAHT — T H 19 EH 10553 I IR R

PEAHT — T H 20 EH 10553 EICI IR R

PEARKT ZTH 21 EH 106553V IT R

PEARKT ZTH 22 EH L0655 3LV IT R

PEARKT ZTH 23 EH 106553V IR R

PEARKT ZTH 24 EH 106553V IR R

PEARKT ZTH 25 EH L0655 3LV IT R

PEARKT ZTH 26 EH L0655 3LV TR

PEARKT ZTH 27 EH 106553V IR R

PEARKT ZTH 28 EH 106553V IT R

PEARKT ZTH 29 EH L0655 3LV IT R

TEAR T H 30 EE 106553V IR R

TEAR T H 31 EH1065 53V IR R

TEAR T H 32 EE 106553V IR R
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T F A2 56 G235 (P ASHT i DX f 2L = 58

B [5]
HT 44 % &S £ i ES
FAART — T H 33 105553 HIC IV IR B
PEART T H 34 1055853 HIC IV IR R
PEART T H 35 1055853 HIC LY IR R
PEART T H 36 1055853 HIC LY IR R
PEART T H 37 1055853 HIC LY IR R
PEART T H 38 105553 HIC IV IR R
PEARRT="TH 1 105553 HIC IV IR R
AR =T H 2 1 TR #1608
TR # F1599
TR #1599
FEARRT=TH 2 2 TN #H F600
TR w601 10
TR w613 1
VAR =TH 2 3 T #H 610 1
TR #{ F1594 2
TR #{ F596 1
AN = TR 3 ) TR w597 5
TR w613 2
TR w613 4
TR w621
VAR =TH 3 2 TR #H599 1
TR w625
AN =T H 3 3 TR #FH 626
TR w627 1
TR #{ 630
TR w623 1
AN =T H 3 A TN #1624 2
TR #1632 1
TR # 637 3
TR B H 627 2
TR B H629 3
AN =T H 3 . TR B H1632 3
TR H 633
TR B H634 2
TR B H637 1
TR i F 628
TR B H629 1
FEARRT =TH 3 6 TR B 1632 2
T #1635
TR #1636
PEARKT =TH 3 7 HEA96 44 1 I K D1 B 1
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T F A2 56 G235 (P ASHT i DX f 2L = 58

E<l) [5]
g4 % & ¥ % &S
PEARRT =TH 3 8 P96 45 1 TEIZ LA (R H
TR B 618 1
TN #H 623 2
FEART =T H 4 1 TR #1623 3
TN #H 624 1
TR B{H631
PEARKT=TH 4 2 TN HH614 2
TR B{H620
AT =T A A 3 TR #H 622
TR # 2,84
TN # 2,85
FEARRT=TH 4 4 TR #H 2,70 1
AT =TH 4 5 TR # 2,88 6
TAR =T H 4 6 TR 2,89
FANT =T H 4 7 TN # F1638
TN B{H639 I
FEARRT=TH 4 8 TINER .81 11
TR # .88 2
AR =T A A 9 TR B 2,81 16
TR # .88 5
TR B 2,81 39
A =T A 4 10 TN 1 2,81 40
TR B .87
TR H .87
AT =TH 4 11 965 LIS LD (R 1y
TR # 2,69 11
FAR =T H A 12 TR B .69 12
TN 2,70 18
TR B .70 19
PEARRT =TH 13 TR #H 2,70 2
PEARKT =TH 14 TR B .81 13
FEARRT=TH 4 15 IR HLT0 4
TR B 470 15
FEARRT=TH 4 16 IR 614 8
TR # 2,69 7
TR #H 614
TR w614 10
FEARRT=TH 4 17 IR 614 12
TR B 618
TR # 2,69
TR # 2,69
PEAHT =T H 4 18 TE96 555 1 THIZ L 2155

9/17




T F A2 56 G235 (P ASHT i DX f 2L = 58

B [5]
HT 44 % & ¥ % &S
TR #HH614 7
AT =T 1 A 19 TR #H 614 9
TR 2,69 2
TR # 2,69 8
VAT =TH 4 20 P96 545 L THIC LD (R
AT =T 1 A 01 TR B 615 1
TN #HH616 2
TR B{HI611
FEARIT=TH 4 22 TR HH612
TR #H 614 1
TN #H 629 2
FEARRT=TH 5 1 T B F643
TR #1649
PEAHT =T H 2 TEH96 55 1 TEIC KD (R
VAT =TH 3 TR B 2,81 10
TN i 2,81 29
FEARRT=TH 5 4 TINER .81 30
TN i 2,81 35
AT =TH 5 5 V596 545 LIS LD (R
TN i 2,81 20
AN =T B 5 6 TR B 2,81 21
TR # 2,81 37
TR B .81 38
TN 2,81 32
PRI =TH 5 7 TR 481 33
TR # 2,88 7
AT =TH TEH96 55 1 I L DR B 1
FEARRT=TH TR # .81 3
AT =TH 10 TEF96 55 1 I LD 1R B 1
AN =T H s T TR 2,81 22
TR B .81 31
FEARRT=TH 5 12 HE96 4 1 IEIC L D1 B 1
TR B .82
FEARRT=TH 5 13 IR L83
TR B .86
TR B 2,87 1
FEARRT=TH 5 14 96 5 1 I L D17 B
AN =T H 6 { TR 2,91 9
TR B 2,91 11
TR ] 2,89 3
PEANT =T H 6 2 TN B 2,90
TR # 2.94 3
PEARNT =T H 6 3 TEH96 555 1 TEIC LD R
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T F A2 56 G235 (P ASHT i DX f 2L = 58

E<0) [5]
HT 44 % &S £ i ES
TR # .81 7
PaART=TH 6 4 TR 2,81 17
TN 2,81 25
TR #1639
A= T H 6 - TR 642
TR # 291 1
TR #2108 2
VEART =T H 6 6 TR # .81 6
PEARRT="TH 6 7 TEEE96 4 | I K D (R R i
TR #1640
TN w641
TR H 2,91 5
TEANTZ T H 6 . TR T 2,107 4
TR H 2,108 1
TR #2109
TR 110
TR H111
VEARRT =T H 6 9 TR H 2,115 1
TN #{ F654
AN =T H 6 10 TR 113 1
TR H114
TR H 121 2
VAR =TH 6 11 TR #H 115 1
VAR =TH 6 12 TR # 2,105 4
TR # 2,105 16
PAAET =T H 6 13 TR ] 2,105 17
TR H 2,106 2
VAR =TH 6 14 TR # 2,105 19
AN =T H 6 15 TR # 2,105 15
TN 2,105 18
VAR =TH 6 16 TN 2,105 19
VAR =TH 6 17 TN 2,105 4
FEARRT=TH 7 1 TR H .81 5
FEARRT =TH 7 2 9655 LI LA IR R
FEARRT=TH 7 3 TR B 2,101 3
FEARRT =TH 7 4 9655 LI LA IR R
VAR =TH 7 5 TR .81 27
VAR =TH 7 6 TR .81 26
PEARKT =TH 7 7 HEA96 44 1 I K D1 B 1
PEARKT =TH 8 1 TR B 2,101 1
PEARKT =TH 8 2 HEA96 44 1 I K D1 B 1
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T F A2 56 G235 (P ASHT i DX f 2L = 58

E<0) [5]

T 44 % &S £ i ES
PAARKT=TH 8 3 T B 291 2
AT =T 1 g A TN # 2,105 8

TN # 2,105 14
PEARRT="TH 8 5 TEEE96 40 | I K D (R R i
PaART=TH 8 6 TR # 291
PaART=TH 8 7 TN # 2,105
PEARRT="TH 9 1 TEEE96 5 | I K D (R R i
PEARRT="TH 9 2 TEEE96 4 | I KD (R R i
PEARRT="TH 9 3 TEEE96 4 | I K D (R R i
PEARRT="TH 9 4 TEEE96 5 | I K D (R R i
PEARRT =T H 9 5 TR H 2,120 8
AN = TR 9 6 TR H 2,120 7
TR H 2,120 9
FEARRT=TH 9 7 TEEE96 44 | IEIC KD (R B H
VEARRT =T H 9 8 TR H 2,120 1
VAR =TH 9 9 TN #2120 10
FEARRT=TH 10 1 IR = .64 !
TR H 2,69 1
FEARRT=TH 10 2 ZEEIN # F508
FEARRT=TH 10 3 ZEEIN # F508
AN =T H 1 | TR 2,69 13
TR B 270 16
AR =T H 11 2 TR B .70 1
AR =T H 11 3 TR B .70 8
TR #2470 12
VAR =TH 11 4 TR W AT0 13
TR B 270 14
FAARRT=TH 11 5 IR HLT0 5
TR H .81 1
TR AT 1
TN T2
TN T3
PEARKT=TH 12 TR AT 1
TR 76 1
TR HWATT 1
TR .99 1
PEART=TH 13 10555 3TEHIC LD IR
TR T AT0 5
PEAT =T H 14 | TR H4T0 6
TR HT9 1
T #H 2,98
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T F A2 56 G235 (P ASHT i DX f 2L = 58

E<0) [5]
HT 44 % &S £ i ES
PaART =TH 14 2 TR #2101 4
TR # 2,95 1
PaART=TH 14 3 TN 1 2,96 4
TR # 2,105 6
PaART=TH 14 4 TR #H 79 4
PEARRT="TH 14 5 TEEE96 4 | I K D (R R i
AT =T 1 " 6 TR #2102 1
TR #2102 6
PaART=TH 14 7 TR #2103 1
PaART=TH 14 8 TN #2102 16
FEARRT="TH 14 9 P96 44 LT KD (R B H
VAR =TH 14 10 TR #2102 15
FEARRT=TH 14 11 P96 4 | IEIC KD (R H
VAR =TH 14 12 TR #2102 5
FEARRT=TH 14 13 P96 44 | IEIC KD (R H
VAR =TH 14 14 TR # 2,100 1
VAR =TH 14 15 TR #2102 14
VAR =TH 14 16 TR # 2,100 3
VAR =TH 14 17 TR # 2,100 1
TR B 2,94 2
FAARRT=TH 14 18 IR R £.96 :
TR #2104 1
TR #2104 2
VAR =TH 14 19 TR B 479 4
TR H476 2
VAR =TH 15 1 TR B £,105 1
TR #2128 2
VAR =TH 15 2 TR # 2,105 20
VAR =TH 15 3 TR # 128 5
VAR =TH 15 4 TR B 2,128 4
TN B 2,126
TN B .127
AN =T H T . TR B 2,128 1
TN B 2,129
TN B 2,130
TR B 2,131 2
VAR =TH 15 6 TR B £.133 1
VAR =TH 15 7 TR B £.132 1
PEARKT =TH 15 8 TR B 2,132 1
PEARKT =TH 15 9 TR B 2,132 1
PEARKT =TH 15 10 TR B 2,132 1
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T F A2 56 G235 (P ASHT i DX f 2L = 58

B [5]

HT 44 i & ¥ % &S
PAARKT=TH 15 11 TR # 2,102 3
PEART=TH 15 12 TR0 45 1 THIC D IR RE e
PEARKT=TH 15 13 TN 2,102 8
PEART =T H 15 14 TEH96 545 1 THIC D IR RE
PEARKT=TH 15 15 TR 2,102 12
PEART =T H 15 16 TEH96 545 1 THIC D IR RE
PEARKT=TH 15 17 TR 2,102 11
PEART =T H 15 18 TR0 45 1 LI D IR RE
PEARKT=TH 15 19 TR 2,102 10
PEART =T H 15 20 TR 96545 1 THIC DO IR RE
PEARKT=TH 16 1 TN 11T 1
PEAHT =T H 16 2 TINE B 2,125
VAT =TH 16 3 TR #H 2,125
PEAHT =T H 16 4 TINE B 2,125
VAT =TH 16 5 TR H 2,136 3
PEARRT=TH 16 6 TR 2,136 1
VAT =TH 16 7 TR H 2,136 1
PEARRT=TH 16 8 TR 2,136 1
VAT =TH 16 9 TR H 2,136 1
PEARRT=TH 16 10 TR 2,133 1
VAT =TH 16 11 TR 2,133 1
FEAHT =T H 16 12 TR B 2,133 1
PEARKT=TH 16 13 TR B £,133 1

TR 2,104 4
TR 11T 2
FEARET =TH 16 14 TNJE B 118 3
TR #2131 1
TN 134
TR B 2,91 13
FAR =T H 16 15 TR ] .94 5
TR B 2,105 2
FEARRT=TH 16 16 HE96 4 1 IEIC L D1 B 1
FEARRT=TH 17 1 96 5 1 THIC L D17 B
FEARRT=TH 17 2 HE96 44 1 I L D1 B 1
PEARKT =TH 17 TR 5,122 13
FEARRT=TH 17 4 IR HL122 6
TR B 2,122 7
FEARRT=TH 17 5 IR HL122 8
TR 5,122 12
TR B 2,122
PEARKT =TH 17 6 TR #4122
TR #2122
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T F A2 56 G235 (P ASHT i DX f 2L = 58

E<0) [5]
HT 44 % &S £ i ES
AT =T [ 17 . TR #2122 10
TN #2122 11
PaART=TH 17 8 TR #2122 5
VAR ="TH 17 9 TR #2122 5
PEARRT="TH 17 10 TEEE96 40 | I K D (R B i
VEART =T H 17 11 TR H 2173 8
PaART=TH 17 12 TR T3 8
TN # 136 2
FEANT =T H 17 3 TR RIS | 2
TN # 2,140 5
TR H2.173 1
FEARRT=TH 17 14 IR HELTS !
TR H 2,176 2
FEARRT=TH 17 15 IR H 185
TR T 2,184 1
VAR =TH 17 16 TR #2135 1
VAR =TH 17 17 TR #2123 1
VAR =TH 17 18 TR #2135 1
VAR =TH 17 19 TR #2135 1
VAR =TH 17 20 TR #2135 1
VAR =TH 17 21 TR # £.165 9
AN =T H 17 99 TR # £.165 11
TR H 172 1
FEARRT=TH 17 23 TEAE96 55 LI LA IR R
FEARRT=TH 17 24 IR R 4,166 !
TR H2.167 1
FAARRT=TH 17 25 TEAE96 45 LI LA IR R
FAARRT=TH 18 1 HEAE96 45 | L A IR R
TR H 2,165 1
TR {2,165 10
TR 172 6
FEARRT=TH 18 2 TR 173 2
TR 175 2
TR #2176 1
TR # 2,180 4
FEARRT =TH 18 3 9655 LI LA IR R
TR #2170 4
TR #2170 7
PEARKT =TH 18 4 TINJE B 2,170 8
TR 171 1
T 171 6
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T F A2 56 G235 (P ASHT i DX f 2L = 58

B [5]
T 44 % &S £ i ES

AN =T H 18 : TR # 2,165 5

TN # 2,165 6
PEARRT="TH 18 6 TEEE96 5 | I K D (R R i

PaART=TH 18 7 TR #2181 2

TR # 2,180 6

AR =T H 18 g TN #2181 4

TR #2186 3

TN #2186 4

AR =T H 18 9 TN # £,180 3

TN #2186 1

TR H 2,185 1

FEARRT=TH 18 10 PR R £.185 2

TR H 2,185 4

TR H 2,185 5
FEARRT=TH 18 11 V5965 5 LTI C LD IR B H

FEARRT=TH 18 12 PR R 182 5

TR H 2,182 5

VAR =TH 18 13 TR #2182 1

VAR =TH 18 14 TR #2182 1

VAR =TH 18 15 TR # 2,180 5
FEARRT=TH 18 16 W96 52 5 1| LD (R H
FEARRT=TH 18 17 P96 5 1 IEIC LD (R H
PRI =TH 18 18 P96 4 1 IEIC LD (R H
FEARRT=TH 18 19 W96 52 5 1| LD (R H
FEARRT=TH 19 105558 3EIZ L0 @
FEARRT=TH 20 105558 3EIZ LV It
FAARRT=TH 21 L1055 3EIC IR R
FAARRT=TH 22 L1055 3TEIC LR R
FEARRT=TH 23 L1055 3TEIC IR R
PEART=TH 24 EH 106553V IT R
PEART=TH 25 EH L0655 3LV IT R
PEART=TH 26 EH 106553V IR R
PEART=TH 27 EH 106553V IR R
PEART=TH 28 EH L0655 3LV IT R
PEART=TH 29 EH L0655 3LV TR
PEART=TH 30 EH 106553V IR R
PEART=TH 31 EH 106553V IT R
PEART=TH 32 EH L0655 3LV IT R
PEANT =T H 33 B 105553 L it R
PEANT =T H 34 1B 105553 HIZ L0 it R
PEANT =T H 35 B 105553 L it R
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T F A2 56 G235 (P ASHT i DX f 2L = 58

B IH
T 44 % &S £ %
PEARRT ="TH 36 105553 HIC IR R
VEART =T H 37 (23%105%%3 HIZEY IR
VEART =T H 38 1055853 HIC LY IR R
VEART =T H 39 1055853 HIC LY IR R
PEARRT="TH 40 1055853 HIC LY IR R
PEARRT="TH 41 105553 HIC IV IR R
PEARRT="TH 42 105553 HIC IV IR R
PEARRT="TH 43 1055853 HIC IV IR R
PEARRT="TH 44 1055853 HIC IV IR R
PEARRT="TH 45 1055853 HIC LY IR R
VEARRT =T H 46 B 1055 3 THIC LV IR
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